Grade 7 Sample Questions
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Write an algebraic expression for the sum of m and 4.
	a.
	4m
	b.
	m + 4
	c.
	[image: image1.png]R k]




	d.
	m  4


____
2.
The cost in dollars of a school banquet is [image: image2.png]62 + 11x



, where n is the number of people attending. What is the cost for 77 people?
	a.
	$909
	b.
	$847
	c.
	$150
	d.
	$785


____
3.
Complete the table.
[image: image3.emf]1 2 3 4 5 Input x

Output4x


	a.
	[image: image4.emf]1 2 3 4 5 Input x

Output4x 14 21 28 35 42



	b.
	[image: image5.emf]1 2 3 4 5 Input x

Output4x 4 8 12 16 20



	c.
	[image: image6.emf]1 2 3 4 5 Input x

Output4x 8 9 10 11 12



	d.
	[image: image7.emf]1 2 3 4 5 Input x

Output4x 4 5 6 7 8




____
4.
Write an equation for the sentence.
Twenty-seven less than a number is 24.
	a.
	24 [image: image8.png]


 y = 27
	c.
	y [image: image9.png]


 27 = 24

	b.
	27 [image: image10.png]


 y = 24
	d.
	y + 27 = 24


____
5.
Write an equation for the sentence.
A number multiplied by 3 is 15.
	a.
	3 + x = 15
	b.
	[image: image11.png]wix




	c.
	5x = 15
	d.
	3x = 15


____
6.
Write 0.54 as a fraction in simplest form. 
	a.
	[image: image12.emf]1

2


	b.
	[image: image13.emf]27

50


	c.
	[image: image14.emf]27

500


	d.
	[image: image15.emf]6

11




____
7.
What is the greatest number in the set?
[image: image16.emf]1

2

3

, [image: image17.emf]1

3

10

, [image: image18.emf]1

4

5

, [image: image19.emf]1

1

2


	a.
	[image: image20.emf]1

2

3


	b.
	[image: image21.emf]1

1

2


	c.
	[image: image22.emf]1

3

10


	d.
	[image: image23.emf]1

4

5




____
8.
Which of the following numbers is closest to 2?
[image: image24.emf]1

3

4

, [image: image25.emf]12

5

, [image: image26.emf]2

1

8

, [image: image27.emf]3

2


	a.
	[image: image28.emf]12

5


	b.
	[image: image29.emf]2

1

8


	c.
	[image: image30.emf]1

3

4


	d.
	[image: image31.emf]3

2




____
9.
Write a multiplication equation for the picture. 
Each small square represents 0.01.
[image: image32.emf]
	a.
	1.5  1.6 = 2.10
	c.
	1.3  1.4 = 1.82

	b.
	1.1  1.2 = 1.36
	d.
	1.4  1.5 = 1.96


____
10.
Evaluate.
4.5  4.6 – 3.7
	a.
	17
	b.
	4.05
	c.
	5.59
	d.
	5.4


____
11.
Estimate the circumference of this circle.
[image: image33.emf]29 m


	a.
	174 m
	b.
	32 m
	c.
	44 m
	d.
	87 m


____
12.
Find the area of this triangle.
[image: image34.emf]34 m

15 m


	a.
	98 m2
	b.
	68 m2
	c.
	49 m2
	d.
	255 m2


____
13.
A town plans to build a triangular park. The triangle will have base 20 m and height 50 m. 
What will be the area of the park?
	a.
	500 m2
	b.
	1000 m2
	c.
	1250 m2
	d.
	2000 m2


____
14.
Which number can be used as a common denominator to subtract [image: image35.png]


?
	a.
	8
	b.
	4
	c.
	12
	d.
	6


____
15.
Which is a common denominator you could use to add [image: image36.png]


 and [image: image37.png]


?
	a.
	7
	b.
	21
	c.
	9
	d.
	12


____
16.
Subtract: [image: image38.png]



	a.
	3[image: image39.emf]1

2


	b.
	[image: image40.emf]5

11

15


	c.
	[image: image41.emf]3

1

15


	d.
	3[image: image42.emf]1

8




____
17.
[image: image43.emf]This tile represents

This tile represents +1.

x.


Identify the tiles that model [image: image44.png]Ix+ 6



.
	a.
	[image: image45.emf]
	c.
	[image: image46.emf]

	b.
	[image: image47.emf][image: image48.emf]
	d.
	[image: image49.emf]


____
18.
Solve this equation: [image: image50.png]



	a.
	–7
	b.
	120
	c.
	23
	d.
	23


____
19.
Here is a set of data: 20, 26, 24, 18, 20, 22, 41
Find the median without the outlier.
	a.
	20
	b.
	22
	c.
	21
	d.
	18


____
20.
Identify the outlier of this set of data: 25, 35, 13, 30, 29, 45, 25, 38
How does the outlier affect the mean?
	a.
	13; it raises the mean by about 2.4.

	b.
	13; it lowers the mean by about 2.4.

	c.
	45; it raises the mean by about 2.1.

	d.
	45; it lowers the mean by about 2.1.


____
21.
A game involves spinning this spinner.
[image: image51.emf]B

B
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R


What is the probability of the pointer landing on R?
	a.
	[image: image52.emf]3

8


	b.
	[image: image53.emf]1

8


	c.
	[image: image54.emf]1

4


	d.
	[image: image55.emf]1

2




____
22.
A pencil case contains 2 red felt pens, 3 white felt pens, and 7 blue felt pens. 
You pick a pen without looking. Find the probability of picking a white pen.
	a.
	[image: image56.emf]7

12


	b.
	[image: image57.emf]3

4


	c.
	[image: image58.emf]1

6


	d.
	[image: image59.emf]1

4




____
23.
A die labelled 1 to 6 is rolled. Find the probability of rolling a number greater than 2.
	a.
	[image: image60.emf]1

3


	b.
	[image: image61.emf]1

2


	c.
	[image: image62.emf]2

3


	d.
	[image: image63.emf]1

6




____
24.
A coin is tossed and a die labelled 1 to 6 is rolled. 
What is the probability of the event “a head on the coin and a 5 on the die?”
	a.
	[image: image64.png]



	b.
	[image: image65.png]



	c.
	[image: image66.png]



	d.
	[image: image67.png]





____
25.
In this diagram, line segment SR is parallel to line segment PT. 
[image: image68.emf]P T

x y

Q

S R


Which statements must be true?
	i)
	Length x is equal to length y.

	ii)
	Length x is not equal to length y.

	iii)
	Angle PSR is equal to angle SRQ.

	iv)
	Angle PSR is not equal to angle SRQ.


	a.
	ii and iii
	b.
	ii and iv
	c.
	i and iv
	d.
	i and iii


____
26.
Which diagram shows the construction of a perpendicular bisector?
	a.
	[image: image69.png]



	b.
	[image: image70.png]



	c.
	none of these
	d.
	[image: image71.png]A%v






____
27.
Which diagram shows the construction of a perpendicular bisector congruent in length to the given line segment?
	a.
	[image: image72.png]AV+AV




	b.
	[image: image73.png]



	c.
	[image: image74.png]



	d.
	[image: image75.png]





____
28.
Line segment EG is the perpendicular bisector of line segment DF.
The length of line segment DE is given. What other length do you know from this diagram?
[image: image76.emf]F

D
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9


	a.
	[image: image77.png]



	b.
	no other length
	c.
	[image: image78.png]



	d.
	[image: image79.png]





____
29.
Line segment AB is the perpendicular bisector of line segment KL. Which statement is true?
[image: image80.emf]L K

B

A

J


	a.
	[image: image81.png]ZLAT



 is a right angle.
	c.
	A is the midpoint of KL.

	b.
	[image: image82.png]



	d.
	[image: image83.png]





____
30.
Line segment DE is the perpendicular bisector of line segment JL. Which statement is not always true?
[image: image84.emf]J L

E

D

K


	a.
	[image: image85.png]



	c.
	[image: image86.png]




	b.
	DE is perpendicular to JL.
	d.
	K is the midpoint of JL.


____
31.
What type of construction does this diagram show?
[image: image87.emf]A G

F


	a.
	perpendicular lines
	c.
	perpendicular bisector

	b.
	parallel lines
	d.
	angle bisector


____
32.
Which diagram shows the construction of the bisector of this angle?
[image: image88.emf]
	a.
	[image: image89.emf]
	c.
	[image: image90.emf]

	b.
	[image: image91.emf]
	d.
	[image: image92.emf]


____
33.
Plot A(–1, 5), B(3, 3), and C(1, 1) on the same grid.
	a.
	[image: image93.emf]A
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	c.
	[image: image94.emf]A
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	b.
	[image: image95.emf]A
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	d.
	[image: image96.emf]A
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y




____
34.
Plot point C(–3, 4) on the grid. Translate the point 2 units right and 4 units down. 
Label the image point [image: image97.png]


.
	a.
	[image: image98.emf]C

C '
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	c.
	[image: image99.emf]C
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	b.
	[image: image100.emf]C
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	d.
	[image: image101.emf]C
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____
35.
Plot point D(–2, –3) on the grid. Reflect the point in the y-axis. 
Label the image point [image: image102.png]


.
	a.
	[image: image103.emf]D
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	c.
	[image: image104.emf]D
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	b.
	[image: image105.emf]D D '
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	d.
	[image: image106.emf]D D '
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____
36.
Translate point C(0, 5) 3 units left and 1 unit down.
Write a rule to describe the translation. What are the coordinates of the image point [image: image107.png]


?
	a.
	[image: image108.png](xy) — (x+ 3y + 1,03



 [image: image109.png]



	c.
	[image: image110.png](xy) — (x+3y- 103



 [image: image111.png]




	b.
	[image: image112.png]


 6)
	d.
	[image: image113.png](xy) — (x—-3,y- 1)



 [image: image114.png]





____
37.
[image: image115.png]AFGH



 has vertices F(4, 4), G(5, 1), and H(2, 2). 
The triangle is reflected in the x-axis.
Which diagram shows [image: image116.png]AFGH



 and its reflection image [image: image117.png]AF'G'H'



?
	a.
	[image: image118.emf]H
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	c.
	[image: image119.emf]H
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	b.
	[image: image120.emf]H
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	d.
	[image: image121.emf]H
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____
38.
[image: image122.png]ARST



 has vertices R(6, 8), S(3, –7), and T(–2, –1).  
The triangle is reflected in the y-axis.
Which diagram shows [image: image123.png]ARST



 and its reflection image [image: image124.png]ARST



?
	a.
	[image: image125.emf]R

S

T

R'

S'

T'

0

5 10 –5 –10 x

5

10

–5

–10

y


	c.
	[image: image126.emf]R
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	b.
	[image: image127.emf]R'
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	d.
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____
39.
[image: image129.png]APQR.



 has vertices P(–7, –4), Q(1, –3), and R(4, 5). 
The triangle is reflected in the x-axis.
Write the coordinates of each vertex of the image [image: image130.png]AP'QR’



.
	a.
	[image: image131.png]P'(-7,4),Q°(1, 3),R'(4,-5)




	c.
	[image: image132.png]




	b.
	[image: image133.png]



	d.
	[image: image134.png]P'(7,-4),Q'(-1,-3),R'(-4,5)






____
40.
Which pentagon cannot be the image of pentagon P after a rotation about a point on this grid?
[image: image135.emf]S

P
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	a.
	pentagon R
	b.
	pentagon Q
	c.
	pentagon T
	d.
	pentagon S


Short Answer

41.
Copy and complete the table. Explain how the Output number is related to the Input number.
	Input n
	1
	2
	3
	4
	5

	Output 2n + 9
	
	
	
	
	



42.
Copy and complete the Input/Output table to show how 14 + 4x is related to x.
	Input x
	0
	3
	6
	9
	12

	Output 14 + 4x
	
	
	
	
	



43.
Write an equation for the sentence.
Seven less than a number is 12.

44.
Write a sentence for the equation.
2n + 6 = 20

45.
Match the equation with the correct sentence.
	P: n + 9 = 27
	A: Nine times a number is 27.

	Q: 9n = 27
	B: A number subtracted from 9 is 27.

	R: [image: image136.png]94+ 21



 = 27 
	C: Nine more than a number is 27.

	S: 9 – n = 27
	D: Nine more than double a number is 27.



46.
Multiply.
2.3 [image: image137.png]


 2.3

47.
Use each of the digits 2, 4, 6 once to make the product true.
.  0. = 2.48

48.
Evaluate.
[image: image138.png]7+88x7+-8-04x8





49.
The radius of the larger circle is 11 cm. The radius of the smaller circle 8 cm.
Estimate the area of the ring formed by the circles. 
[image: image139.emf]

50.
Calculate the area of the semicircle. Round your answer to the nearest square centimetre.
[image: image140.emf]22.2cm



51.
Workers were surveyed to find their choice of transportation during work days.
Here are the results:
	•
	56% chose to drive on their own.

	•
	17% chose to be in a car pool.

	•
	12% chose transit.

	•
	15% chose other modes, such as biking or walking.


Complete this table needed for a circle graph. Round your angle measure to the nearest degree.
	Facility
	Percent Surveyed
	Sector Angle

	Driving Alone
	56%
	

	Car Pool
	17%
	

	Transit
	12%
	

	Other
	15%
	



52.
Jason worked [image: image141.emf]1

5

6

 h on Saturday and [image: image142.emf]2

1

4

 h on Sunday. How much time did he spend working?

53.
Solve this equation: [image: image143.png]




54.
Solve this equation: 5x  6 = 9

55.
The graph shows the amount of money saved each month for 5 months.
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	a)
	Find the greatest amount saved in a month.

	b)
	Find the mean.

	c)
	Find the mode.



56.
Here is a set of data: 24, 22, 19, 24, 7, 26, 39, 22, 24
Calculate the mean without the outliers.

57.
This set of data shows the waiting times, in minutes, at a fast-food restaurant:
3, 2, 3, 2, 12, 2, 1, 3, 1, 4, 5, 5, 12, 4, 1
	a)
	Calculate the mean.

	b)
	Identify the outliers.

	c)
	Calculate the mean without the outliers.



58.
A barrel contains 30 cans of fish, all of the same size.
There are: 6 salmon flakes, 6 chunk salmon, 11 tuna flakes, 7 chunk tuna
Daisy picked a can of fish without looking. What is the probability that the can contains:
	a)
	salmon?

	b)
	fish that is not chunk tuna?



59.
Start with this diagram.
[image: image145.emf]Q

R

P


Construct a line segment AP perpendicular to line segment QP.
Construct a line segment RB parallel to line segment QP.
Label the point S at where the 2 constructed line segments intersect. 
Describe quadrilateral PQRS.

60.
In which quadrant is the point (–2, –5) located?
Problem

61.

	a)
	Are the numbers in Set A multiples of the same number? What number?

	b)
	Are the numbers in Set B multiples of the same number? What number?

	c)
	What can you say about the numbers in the overlapping region?


[image: image146.emf]25
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62.
A scientific experiment requires that the temperature be increased at a steady rate. The starting temperature is 110C and the temperature is increased by 90C each day.
	a)
	Write an algebraic expression to show the temperature after d days.

	b)
	What will the temperature be after 17 days?



63.
A student is paid $6 for each hour she works.
	a)
	How much would she earn if she worked 29 hours?

	b)
	Write a relation for her earnings for n hours of work.

	c)
	Write an expression for her earnings if she worked n hours and then an additional 3 hours.



64.
A square and an equilateral triangle each have the same perimeter, p cm. 
	a)
	Write a relation for the length of the side of each figure.

	b)
	If the perimeter is 72 cm, what is the length of the side of each figure?



65.
Add.
(+6) + (–2) + (+8)

66.
Find 3 pairs of integers with a difference of –4.

67.
Find a fraction greater than [image: image147.png]


 but less than [image: image148.png]


.

68.
Frank buys 3 pencils for $0.84 each and 4 notebooks for $3.58 each. 
How much does he have to pay?

69.
Replace each with an operator and add brackets, if needed, to make each equation true.
	a)
	0.5[image: image149.emf]0.5[image: image150.emf]0.5[image: image151.emf]0.5 = 1

	b)
	0.5[image: image152.emf]0.5[image: image153.emf]0.5[image: image154.emf]0.5 = 1.5

	c)
	0.5[image: image155.emf]0.5[image: image156.emf]0.5[image: image157.emf]0.5 = 2

	d)
	0.5[image: image158.emf]0.5[image: image159.emf]0.5[image: image160.emf]0.5 = 2.5

	e)
	0.5[image: image161.emf]0.5[image: image162.emf]0.5[image: image163.emf]0.5 = 3



70.
The diagram shows a large square of side length 10 cm. 
If the 2 parallelograms and the small square are removed, what will be the area left?
[image: image164.emf]

71.
The diagram consists of a square and a parallelogram. Find the area of the figure.
[image: image165.emf]12.5cm



72.
On 1-cm grid paper, draw 3 different triangles each with area 18 cm2.
Record the base and the height of each triangle.

73.
Find the height of the triangle with base 10 cm. Show your work.
[image: image166.emf]6 cm
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74.
A circle has circumference 94.2 cm
	a)
	Determine the radius of the circle to the nearest centimetre.

	b)
	Calculate the area of the circle to one decimal place.



75.
Replace[image: image167.emf]with a mixed number to make this equation true.
[image: image168.emf]1
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 +[image: image169.emf]= [image: image170.emf]4
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76.
Five students read an average of 4 books. John made this statement, “This means that at least 2 students have read more than 4 books.”
	a)
	What data would make this statement true?

	b)
	What data would make this statement false?



77.
Three coins are tossed. What is the probability of getting a head and 2 tails?
Show your work.

78.
Draw a line segment AB that is 8 cm long.
	a)
	Construct line segment PA that is perpendicular to AB and is 7 cm long.

	b)
	Construct line segment PQ that is perpendicular to AP and is 8 cm long.

	c)
	At point A, use a protractor to draw [image: image171.png]


ABT that measures 135.

	d)
	t point Q, use a protractor to draw [image: image172.png]


PQS that measures 135.


Are line segments BT and QS perpendicular? Explain the method you used to check.

79.
In this diagram, [image: image173.png]


ABC = [image: image174.png]


BCD and AB = CD.
Use different methods to construct the bisectors of [image: image175.png]


ABC and [image: image176.png]


DCB. 
Label the point F at where the 2 bisectors intersect.
Construct a perpendicular to line segment BC through point F. 
Label the point G at where the perpendicular crosses line segment BC.
Place the compass point on point F and draw a circle with radius FG.
Does the circle touch the 3 line segments AB, BC, and CD?
[image: image177.emf]A

B C

D



80.
The line segment joining points A(–6, 0) and B(–1, 3) is one side of square ABCD. 
What are the coordinates of the other 2 vertices of the square?
Find as many different answers as you can.
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3.2 Comparing and Ordering Fractions and Decimals
LOC:
7.N7
TOP:
Number
KEY:
Problem-solving Skills

9.
ANS:
C
PTS:
1
DIF:
Moderate
REF:
3.4 Multiplying Decimals
LOC:
7.N2
TOP:
Number
KEY:
Communication


10.
ANS:
A
PTS:
1
DIF:
Moderate

REF:
3.6 Order of Operations with Decimals

LOC:
7.N2
TOP:
Number
KEY:
Procedural Knowledge

11.
ANS:
A
PTS:
1
DIF:
Easy
REF:
4.2 Circumference of a Circle
LOC:
7.SS1
TOP:
Shape and Space (Measurement)
KEY:
Procedural Knowledge

12.
ANS:
D
PTS:
1
DIF:
Easy
REF:
4.4 Area of a Triangle
LOC:
7.SS2
TOP:
Shape and Space (Measurement)
KEY:
Procedural Knowledge

13.
ANS:
A
PTS:
1
DIF:
Easy
REF:
4.4 Area of a Triangle
LOC:
7.SS2
TOP:
Shape and Space (Measurement)
KEY:
Procedural Knowledge

14.
ANS:
A
PTS:
1
DIF:
Easy

REF:
5.4 Using Models to Subtract Fractions

LOC:
7.N5
TOP:
Number
KEY:
Conceptual Understanding

15.
ANS:
D
PTS:
1
DIF:
Moderate
REF:
5.6 Adding with Mixed Numbers
LOC:
7.N5
TOP:
Number
KEY:
Conceptual Understanding

16.
ANS:
C
PTS:
1
DIF:
Moderate

REF:
5.7 Subtracting with Mixed Numbers

LOC:
7.N5
TOP:
Number
KEY:
Conceptual Understanding

17.
ANS:
D
PTS:
1
DIF:
Easy

REF:
6.3 Solving Equations Involving Integers

LOC:
7.PR3 | 7.PR7
TOP:
Patterns and Relations (Variables and Equations)
KEY:
Conceptual Understanding

18.
ANS:
C
PTS:
1
DIF:
Easy

REF:
6.5 Using Different Methods to Solve Equations
LOC:
7.PR3 | 7.PR6
TOP:
Patterns and Relations (Variables and Equations)
KEY:
Conceptual Understanding

19.
ANS:
C
PTS:
1
DIF:
Moderate

REF:
7.3 The Effects of Outliers on Average

LOC:
7.SP2
TOP:
Statistics and Probability (Data Analysis)

KEY:
Conceptual Understanding

20.
ANS:
B
PTS:
1
DIF:
Moderate

REF:
7.3 The Effects of Outliers on Average

LOC:
7.SP2
TOP:
Statistics and Probability (Data Analysis)

KEY:
Conceptual Understanding

21.
ANS:
D
PTS:
1
DIF:
Easy

REF:
7.5 Different Ways to Express Probability

LOC:
7.SP4
TOP:
Statistics and Probability (Chance and Uncertainty)
KEY:
Conceptual Understanding

22.
ANS:
D
PTS:
1
DIF:
Easy

REF:
7.5 Different Ways to Express Probability

LOC:
7.SP4
TOP:
Statistics and Probability (Chance and Uncertainty)
KEY:
Conceptual Understanding

23.
ANS:
C
PTS:
1
DIF:
Moderate

REF:
7.5 Different Ways to Express Probability

LOC:
7.SP4
TOP:
Statistics and Probability (Chance and Uncertainty)
KEY:
Conceptual Understanding

24.
ANS:
A
PTS:
1
DIF:
Moderate
REF:
7.6 Tree Diagrams
LOC:
7.SP5
TOP:
Statistics and Probability (Chance and Uncertainty)
KEY:
Conceptual Understanding

25.
ANS:
D
PTS:
1
DIF:
Moderate
REF:
8.1 Parallel Lines
LOC:
7.SS3
TOP:
Shape and Space (3-D Objects and 2-D Shapes)
KEY:
Conceptual Understanding

26.
ANS:
D
PTS:
1
DIF:
Easy

REF:
8.3 Constructing Perpendicular Bisectors

LOC:
7.SS3
TOP:
Shape and Space (3-D Objects and 2-D Shapes)
KEY:
Conceptual Understanding

27.
ANS:
C
PTS:
1
DIF:
Easy

REF:
8.3 Constructing Perpendicular Bisectors

LOC:
7.SS3
TOP:
Shape and Space (3-D Objects and 2-D Shapes)
KEY:
Conceptual Understanding

28.
ANS:
A
PTS:
1
DIF:
Moderate

REF:
8.3 Constructing Perpendicular Bisectors

LOC:
7.SS3
TOP:
Shape and Space (3-D Objects and 2-D Shapes)
KEY:
Conceptual Understanding

29.
ANS:
B
PTS:
1
DIF:
Moderate

REF:
8.3 Constructing Perpendicular Bisectors

LOC:
7.SS3
TOP:
Shape and Space (3-D Objects and 2-D Shapes)
KEY:
Conceptual Understanding

30.
ANS:
A
PTS:
1
DIF:
Moderate

REF:
8.3 Constructing Perpendicular Bisectors

LOC:
7.SS3
TOP:
Shape and Space (3-D Objects and 2-D Shapes)
KEY:
Conceptual Understanding

31.
ANS:
D
PTS:
1
DIF:
Easy
REF:
8.4 Constructing Angle Bisectors
LOC:
7.SS3
TOP:
Shape and Space (3-D Objects and 2-D Shapes)
KEY:
Conceptual Understanding

32.
ANS:
B
PTS:
1
DIF:
Moderate
REF:
8.4 Constructing Angle Bisectors
LOC:
7.SS3
TOP:
Shape and Space (3-D Objects and 2-D Shapes)
KEY:
Conceptual Understanding

33.
ANS:
A
PTS:
1
DIF:
Moderate
REF:
8.5 Graphing on a Coordinate Grid
LOC:
7.SS4
TOP:
Shape and Space (Transformations)


KEY:
Conceptual Understanding

34.
ANS:
B
PTS:
1
DIF:
Easy

REF:
8.6 Graphing Translations and Reflections

LOC:
7.SS5
TOP:
Shape and Space (Transformations)


KEY:
Conceptual Understanding

35.
ANS:
B
PTS:
1
DIF:
Easy

REF:
8.6 Graphing Translations and Reflections

LOC:
7.SS5
TOP:
Shape and Space (Transformations)


KEY:
Conceptual Understanding

36.
ANS:
D
PTS:
1
DIF:
Moderate

REF:
8.6 Graphing Translations and Reflections

LOC:
7.SS5
TOP:
Shape and Space (Transformations)


KEY:
Communication

37.
ANS:
D
PTS:
1
DIF:
Moderate

REF:
8.6 Graphing Translations and Reflections

LOC:
7.SS5
TOP:
Shape and Space (Transformations)


KEY:
Conceptual Understanding

38.
ANS:
D
PTS:
1
DIF:
Moderate

REF:
8.6 Graphing Translations and Reflections

LOC:
7.SS5
TOP:
Shape and Space (Transformations)


KEY:
Conceptual Understanding

39.
ANS:
A
PTS:
1
DIF:
Moderate

REF:
8.6 Graphing Translations and Reflections

LOC:
7.SS5
TOP:
Shape and Space (Transformations)


KEY:
Conceptual Understanding

40.
ANS:
B
PTS:
1
DIF:
Difficult
REF:
8.7 Graphing Rotations
LOC:
7.SS5
TOP:
Shape and Space (Transformations)


KEY:
Problem-solving Skills
SHORT ANSWER

41.
ANS:

	Input n
	1
	2
	3
	4
	5

	Output 2n + 9
	11
	13
	15
	17
	19


To obtain the output, the input number is doubled then added to 9.
PTS:
1
DIF:
Moderate
REF:
1.5 Patterns and Relationships in Tables
LOC:
7.PR2 |7.PR5



TOP:
Patterns and Relations (Patterns, Variables and Equations)


KEY:
Communication


42.
ANS:

	Input x
	0
	3
	6
	9
	12

	Output 14 + 4x
	14
	26
	38
	50
	62


PTS:
1
DIF:
Moderate
REF:
1.6 Graphing Relations
LOC:
7.PR1|7.PR2|7.PR5


TOP:
Patterns and Relations (Patterns, Variables and Equations)


KEY:
Procedural Knowledge

43.
ANS:

n – 7 = 12
PTS:
1
DIF:
Easy
REF:
1.7 Reading and Writing Equations
LOC:
7.PR3|7.PR6|7.PR7

TOP:
Patterns and Relations (Variables and Equations)
KEY:
Procedural Knowledge 

44.
ANS:

Six added to double a number is 20.
PTS:
1
DIF:
Moderate
REF:
1.7 Reading and Writing Equations
LOC:
7.PR3|7.PR7
TOP:
Patterns and Relations (Variables and Equations)
KEY:
Procedural Knowledge

45.
ANS:

P with C
Q with A
R with D
S with B
PTS:
1
DIF:
Difficult
REF:
1.7 Reading and Writing Equations
LOC:
7.PR3|7.PR6|7.PR7

TOP:
Patterns and Relations (Variables and Equations)
KEY:
Conceptual Understanding

46.
ANS:

5.29
PTS:
1
DIF:
Moderate
REF:
3.4 Multiplying Decimals
LOC:
7.N2
TOP:
Number
KEY:
Procedural Knowledge

47.
ANS:

6.2  0.4 = 2.48
PTS:
1
DIF:
Moderate
REF:
3.4 Multiplying Decimals
LOC:
7.N2
TOP:
Number
KEY:
Problem-solving Skills

48.
ANS:

11.5
PTS:
1
DIF:
Moderate
REF:
3.6 Order of Operations with Decimals
LOC:
7.N2
TOP:
Number
KEY:
Procedural Knowledge

49.
ANS:

171 cm2
PTS:
1
DIF:
Difficult
REF:
4.5 Area of a Circle

LOC:
7.SS1|7.SS2
TOP:
Shape and Space (Measurement)
KEY:
Problem-solving Skills

50.
ANS:

194 cm2
PTS:
1
DIF:
Moderate
REF:
4.5 Area of a Circle

LOC:
7.SS1|7.SS2
TOP:
Shape and Space (Measurement)
KEY:
Problem-solving Skills

51.
ANS:

	Facility
	Percent Surveyed
	Sector Angle

	Driving Alone
	56%
	202°

	Car Pool
	17%
	61°

	Transit
	12%
	43°

	Other
	15%
	54°


PTS:
1
DIF:
Easy
REF:
4.7 Drawing Circle Graphs
LOC:
7.N3|7.SP3
TOP:
Number | Statistics and Probability (Data Analysis)
KEY:
Procedural Knowledge

52.
ANS:

[image: image178.emf]4

1

12

 h
PTS:
1
DIF:
Moderate
REF:
5.6 Adding with Mixed Numbers
LOC:
7.N5
TOP:
Number
KEY:
Conceptual Understanding

53.
ANS:

7
PTS:
1
DIF:
Easy
REF:
6.1 Solving Equations

LOC:
7.PR3 | 7.PR7


TOP:
Patterns and Relations (Variables and Equations)
KEY:
Conceptual Understanding

54.
ANS:

x = 3
PTS:
1
DIF:
Moderate
REF:
6.4 Solving Equations Using Algebra
LOC:
7.PR3 | 7.PR7


TOP:
Patterns and Relations (Variables and Equations)
KEY:
Conceptual Understanding

55.
ANS:

	a)
	The greatest amount is $17.

	b)
	The mean amount is $12.6.

	c)
	The mode amount is $12.


PTS:
1
DIF:
Moderate
REF:
7.1 Mean and Mode

LOC:
7.SP1
TOP:
Statistics and Probability (Data Analysis)

KEY:
Conceptual Understanding

56.
ANS:

The mean without the outliers 7 and 39 is 23.
PTS:
1
DIF:
Moderate
REF:
7.3 The Effects of Outliers on Average
LOC:
7.SP2
TOP:
Statistics and Probability (Data Analysis)

KEY:
Conceptual Understanding

57.
ANS:

	a)
	The mean time is 4 min.

	b)
	There are 2 outliers, 12 min and 12 min.

	c)
	The mean without the outliers is 2.8 min.


PTS:
1
DIF:
Moderate
REF:
7.3 The Effects of Outliers on Average
LOC:
7.SP2
TOP:
Statistics and Probability (Data Analysis)

KEY:
Conceptual Understanding

58.
ANS:

	a)
	The probability of getting salmon is [image: image179.emf]2

5

.

	b)
	The probability of not getting chunk tuna is [image: image180.emf]23

30

.


PTS:
1
DIF:
Moderate
REF:
7.5 Different Ways to Express Probability
LOC:
7.SP4
TOP:
Statistics and Probability (Chance and Uncertainty)
KEY:
Problem-solving Skills

59.
ANS:

[image: image181.emf]Q P

A

B

R

S


Quadrilateral PQRS has 1 pair of parallel sides RS and QP. 
So, quadrilateral PQRS is a trapezoid.
PTS:
1
DIF:
Moderate
REF:
8.2 Perpendicular Lines
LOC:
7.SS3
TOP:
Shape and Space (3-D Objects and 2-D Shapes)
KEY:
Communication


60.
ANS:

The point (–2, –5) is in Quadrant 3.
PTS:
1
DIF:
Easy
REF:
8.5 Graphing on a Coordinate Grid
LOC:
7.SS4
TOP:
Shape and Space (Transformations)


KEY:
Conceptual Understanding
PROBLEM

61.
ANS:

	a)
	Numbers in Set A are multiples of 5.

	b)
	Numbers in Set B are multiples of 4.

	c)
	Multiples of 4 and 5, or multiples of 20


PTS:
1
DIF:
Difficult
REF:
1.1 Patterns in Division
LOC:
7.N1
TOP:
Number
KEY:
Problem-solving Skills

62.
ANS:

	a)
	(11 + 9d)0C

	b)
	(11 + 9  17)0C
= (11 + 153)0C
=1640C
The temperature will be 1640C after 17 days.


PTS:
1
DIF:
Difficult
REF:
1.3 Algebraic Expressions
LOC:
7.PR5
TOP:
Patterns and Relations (Variables and Equations)
KEY:
Problem-solving Skills

63.
ANS:

	a)
	In 1 hour she earns $6
In 29 hours she earns $(6  29) = $174

	b)
	$6n

	c)
	$6n + $36 = $(6n + 18)


PTS:
1
DIF:
Moderate
REF:
1.4 Relationships in Patterns
LOC:
7.PR1 |7.PR5



TOP:
Patterns and Relations (Patterns, Variables and Equations)


KEY:
Procedural Knowledge

64.
ANS:

	a)
	Square: [image: image182.png]=y



 Triangle: [image: image183.png]|y





	b)
	p = 72 cm
Side of square = [image: image184.png]72

18



 cm
Side of triangle = [image: image185.png]72

2



 cm


PTS:
1
DIF:
Moderate
REF:
1.4 Relationships in Patterns
LOC:
7.PR1 |7.PR5



TOP:
Patterns and Relations (Patterns, Variables and Equations)


KEY:
Problem-solving Skills

65.
ANS:

+12
PTS:
1
DIF:
Difficult
REF:
2.2 Adding Integers with Tiles
LOC:
7.N6
TOP:
Number
KEY:
Procedural Knowledge

66.
ANS:

Answers will vary but each pair of numbers must differ by 4.
Example: 
(+5) – (+9) = –4
(–3) – (+1) = –4
(+1) – (+5) = –4
PTS:
1
DIF:
Difficult
REF:
2.4 Subtracting Integers with Tiles
LOC:
7.N6
TOP:
Number 
KEY:
Problem-solving Skills

67.
ANS:

Answers and methods may vary.
Sample:
Use equivalent fractions. 
[image: image186.png]


 = [image: image187.png]


, [image: image188.png]


 = [image: image189.png]



Double the numerators and denominators.
[image: image190.png]


 = [image: image191.png]7



, [image: image192.png]


 = [image: image193.png]7




So, a possible answer is [image: image194.png]7



.
PTS:
1
DIF:
Difficult
REF:
3.2 Comparing and Ordering Fractions and Decimals
LOC:
7.N7
TOP:
Number
KEY:
Problem-solving Skills

68.
ANS:

Frank has to pay $16.84.
PTS:
1
DIF:
Moderate
REF:
3.4 Multiplying Decimals
LOC:
7.N2
TOP:
Number
KEY:
Problem-solving Skills

69.
ANS:

Answers may vary.
Sample answers:
	a)
	(0.5 + 0.5) ÷ (0.5 + 0.5) = 1

	b)
	(0.5  0.5 + 0.5) ÷ 0.5 = 1.5

	c)
	0.5 + 0.5 + 0.5 + 0.5 = 2

	d)
	0.5 ÷ (0.5  0.5) + 0.5 = 2.5

	e)
	(0.5 + 0.5 + 0.5) ÷ 0.5 = 3


PTS:
1
DIF:
Difficult
REF:
3.6 Order of Operations with Decimals
LOC:
7.N2
TOP:
Number
KEY:
Problem-solving Skills

70.
ANS:

63 cm2
PTS:
1
DIF:
Difficult
REF:
4.3 Area of a Parallelogram
LOC:
7.SS2
TOP:
Shape and Space (Measurement)
KEY:
Problem-solving Skills

71.
ANS:

Area of half square: [image: image195.png]125%x12.5+2



 = 78.125
Area of parallelogram: [image: image196.png]12.5%x12.5



 = 156.25
Total area: 156.25 + 78.125 = 234.375 
The area of the figure is 234.375 cm2.
PTS:
1
DIF:
Difficult
REF:
4.3 Area of a Parallelogram
LOC:
7.SS2
TOP:
Shape and Space (Measurement)
KEY:
Problem-solving Skills

72.
ANS:

Answers may vary. Sample:
	[image: image197.emf]
	[image: image198.emf]
	[image: image199.emf]

	Base: 12 cm
	Base: 6 cm
	Base: 9 cm 

	Height: 3 cm
	Height: 6 cm
	Height: 4 cm


PTS:
1
DIF:
Moderate
REF:
4.4 Area of a Triangle
LOC:
7.SS2
TOP:
Shape and Space (Measurement)
KEY:
Problem-solving Skills

73.
ANS:

[image: image200.png]



[image: image201.png]



The height is 4.8 cm.
PTS:
1
DIF:
Difficult
REF:
4.4 Area of a Triangle
LOC:
7.SS2
TOP:
Shape and Space (Measurement)
KEY:
Communication

74.
ANS:

	a)
	r = [image: image202.png]042+ 2=+



 [image: image203.png]


 [image: image204.png]


 15 
The radius is about 15 cm.

	b)
	A = [image: image205.png]


  15  15 [image: image206.png]


 706.9 
The area is about 706.9 cm2.


PTS:
1
DIF:
Difficult
REF:
4.5 Area of a Circle

LOC:
7.SS1|7.SS2
TOP:
Shape and Space (Measurement)
KEY:
Problem-solving Skills

75.
ANS:

[image: image207.emf]2

1

2


PTS:
1
DIF:
Difficult
REF:
5.7 Subtracting with Mixed Numbers
LOC:
7.N5
TOP:
Number
KEY:
Problem-solving Skills

76.
ANS:

Answers may vary. For example:
	a)
	Number of books read by 5 students are: 2, 3, 4, 5, 6
The total is 20 (an average of 4) and 2 students have read more than 4 books.

	b)
	Number of books read by 5 students are: 2, 2, 4, 4, 8
The total is 20 and only 1 student has read more than 4 books.


PTS:
1
DIF:
Difficult
REF:
7.3 The Effects of Outliers on Average
LOC:
7.SP2
TOP:
Statistics and Probability (Data Analysis)

KEY:
Problem-solving Skills

77.
ANS:

Answers may vary. For example:
List all possible outcomes: HHH, HHT, HTH, HTT, THH, THT, TTH, TTT
There are 8 possible outcomes. 
Three outcomes show 1 head and 2 tails.
The probability of getting a head and 2 tails is [image: image208.png]


.
PTS:
1
DIF:
Moderate
REF:
7.6 Tree Diagrams

LOC:
7.SP5
TOP:
Statistics and Probability (Chance and Uncertainty)
KEY:
Procedural Knowledge | Communication


78.
ANS:

a) to d)
[image: image209.emf]A B

P

Q

T

S


Line segments BT and QS are perpendicular.
Methods may vary. For example:
Place a Mira along line segment QS and check if line segment BT coincides with itself.
Or, place the base of a plastic right triangle along line segment BT and check if QS coincides with the height of the plastic triangle.
PTS:
1
DIF:
Difficult
REF:
8.2 Perpendicular Lines
LOC:
7.SS3
TOP:
Shape and Space (3-D Objects and 2-D Shapes)
KEY:
Procedural Knowledge | Communication


79.
ANS:

Diagrams may vary. For example:
[image: image210.emf]A

B C

D

G

F


The circle touches all 3 line segments.
PTS:
1
DIF:
Difficult
REF:
8.4 Constructing Angle Bisectors
LOC:
7.SS3
TOP:
Shape and Space (3-D Objects and 2-D Shapes)
KEY:
Procedural Knowledge | Communication | Problem-solving Skills


80.
ANS:

There are 2 different answers:
The other 2 vertices could be: C(–4, 8) and D(–9, 5) or C(2, –2) and D(–3, –5).
PTS:
1
DIF:
Difficult
REF:
8.5 Graphing on a Coordinate Grid
LOC:
7.SS4
TOP:
Shape and Space (Transformations)


KEY:
Problem-solving Skills

